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[ 4,267,191
= 640,079
Al 1,188,719
LIRSS SAEIA SAIL S22 527,400 437,400 90,000
301 EtE NS 527,400 437,400 90,000
14 0Bt 2a s 527,400 437,400 90,000
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SHEAE 29 481,940 432,570 49,370
101 e124d| 64,49 63,035 1,464
M ORINZZ2NSE S 64,49 63,035 1,464
OstEAlE 22|22 64,49
olle= 80,3203 x2H 2462 39,518
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] 80,3203 x2ZH 69 *150% 16,627
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01 AtR2t2lt] 93,408 92,086 1,322
OFAANE 23HHIES Y 5,800
OAIRE3HI(AMRID] 2€) 3,060
285 7Y 3,200
OgZ oIsAl=taa S
330,000 x10CH =23 6,600
OgEL0 B2 &0 XA
60,0003 *8IH*22] 960
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FA BZHO0HRIL
Hm: Lol =X =
el AN RESE R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZSS2X 6504 == (THHHA)
85,8503 %540 46,359
OS&2X XY
85,8502 *8H x4 L *20H A 5,495
OYE 2EQX #ZEY
80,3203 x20H x2 & +23] 6.426
OZEBERN FEMHAK AT
80,3202 x 102 +32 +23] 4,820
201 er2 3| 5,600 6,520 A920
01 AtR2t2|HI 3,000 3,520 A520
OW=&g HII= XMl 3,000
02 s3=gHl 2,600 3,000 2400
Oll=J| K= 2,600
206 MH=H| 10,000 10,000
01 MHZH| 10,000 10,000
OS&R2X H=H 7 10,000
405 AtatE = 2,000 2,800 A800
01 ML ESFSHI 2,000 2,800 A800
Ooull=21 ¢ 2,000
SEZAAE EX 206,000 122,000 84,000
[ 103,000
= 51,500
Al 51,500
401 AIEHIX S0 206,000 122,000 84,000
[ 103,000
= 51,500
Al 51,500
01 Al&HI 206,000 122,000 84,000
OZAANIE EXIRE (2 2= 571) 206,000
= 103,000
[ 51,500
Al 51,500
SEAIEZHISA 242,000 181,500 60,500
401 Al HIZL 2018 242,000 181,500 60,500
01 Al&H| 242,000 181,500 60,500
OEAMAIE ARE B4 Y HUISA 20,000
OStHAIE FXE SAHMSIUHEE,
BHEE, ZUHX WA S) 200,000
OSEXNAE EA WM E=3At 22,000
A2l SXISE 85,629,932 72,990,090 12,639,842
= 50,448,271
= 257,583
== 9,424,909
Al 23,649,169
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2A:
X XH -
o e

=aak

200! 0t
NPT
I =2SXE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,720
Al 32,014
307 lztol & 45,734 15,515 30,219
= 13,720
Al 32,014
11 AMEISXAIEEXS 45,734 15,515 30,219
OSSHMA ALY XNALEH K& 45,734
= 13,720
Al 32,014
ARISXAL2EXE 30,773,5% 28,774,469 1,999,127
= 16,992,909
= 3,545,607
Al 10,235,080
ZOHRIHFAIE 2EXA(EX) 20,993,254 19,258,751 1,734,503
= 14,695,277
= 1,259,597
Al 5,038,380
307 elztol & 20,993,254 19,258,751 1,734,503
= 14,695,277
< 1,259,597
Al 5,038,380
10 Al SXAEEHE 22X 20,993,254 19,258,751 1,734,503
OZMAANFAIL(REE, S5, R0
29 (129H4) 20,993,254
= 14,695,277
== 1,259,597
Al 5,038,380
HOHAAFAIE 2ERN(EEX) 106,577 11,000 95,577
= 31,973
Al 74,604
307 el2to| & 106,577 11,000 9,577
= 31,973
Al 74,604
1 AMISXAIEEXS 106,577 11,000 95,577
OFO0HZFAIE CCTV HEH XHALS 6,577
== 1,973
Al 4,604
OZOHRIHFAIL EIAT X2 KR (10Y) 100,000
= 30,000
Al 70,000
SO AEHEAL 2 1,711,225 1,783,135 AT71,910
= 342,245
Al 1,368,980




2A:

X XH -
o=

200! 0t
NPT

CHRlr ARRISXAIE2S XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,711,225 1,783,135 AT71,910
= 342,245
Al 1,368,980
10 Al SXAAEEHE2EHI2x 1,711,225 1,783,135 AT71,810
O AN MEAL 2SI 1,711,225
= 342,245
Al 1,368,980
ol AdIgAs A& 80,537 80,040 497
= 56,376
= 9,664
Al 14,497
307 @20l & 80,537 80,040 497
= 56,376
= 9,664
Al 14,497
11 AMEISXAIEEXS 80,537 80,040 497
OFOHe! AdlUAs XA (1IHA) 80,537
= 56,376
& 9,664
Al 14,497
FAUQAAE 2HXRA(EX) 3,113,000 2,942,857 170,143
= 2,179,000
< 934,000
307 @120l & 3,113,000 2,942,857 170,143
= 2,179,000
= 934,000
10 Al SXAEEE 22X 3,113,000 2,942,857 170,143
OFRAAIE 2EXS 3,113,000
= 2,179,000
= 934,000
URLAL 2SNA(EEE) 89,940 100,599 ~10,659
= 26,982
Al 62,958
307 el2to| & 89,940 100,599 10,659
= 26,982
Al 62,958
11 AMISXAIEEXE 89,940 100,599 10,659
OFAQAAIL HWEtZ2 8 XIA(155%) 11,340
== 3,402
Al 7,938
OTAQAAL Mol HAH| X2 (80H) 3,000
= 900
Al 2,100




2A:

E M

200! 0t
A2 SXSE

CHRlr ARRISXAIE2S XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFUQAAIE SAR SE2EH43Y) 75,600
= 22,680
Al 52,920
Zoj =2 LEXY M 2 23,3% 30,000 26,644
307 @20l & 23,356 30,000 6,644
11 MEISXAEE 23,356 30,000 A\6,644
OFeI=AZ 22 AN 29 23,356
o =X 24 1,757,000 1,734,000 23,000
< 361,400
Al 1,405,600
307 elztol & 1,757,000 1,734,000 23,000
= 351,400
Al 1,405,600
10 Al SXAIEEHE 22X 1,757,000 1,734,000 23,000
odelsA2 28 X3 1,757,000
= 361,400
Al 1,405,600
R F=UESAEZSE 1,111,500 1,082,300 29,200
== 222,300
Al 889,200
307 212+01& 1,111,500 1,082,300 29,200
< 222,300
Al 889,200
10 Al2ISXIAIEEE 22X 1,044,000 1,014,800 29,200
OZOHl F=AHEBSAIA QI2AHI (404 ) 960,500
= 192,100
Al 768,400
OFfQ! FAESAIE 22I2HI(4H) 83,500
=S 16,700
Al 66,800
11 AMEISXAEEES 67,500 67,500 0
OTOH FAESAIE ORISS A (10HA) 67,500
& 13,500
Al 54,000
S0l HE0ISKNAHEH 28 323,000 317,000 6.000
= 64,600
Al 258,400
307 @20l & 323,000 317,000 6,000
=S 64,600
Al 258,400
10 Al SXAEEE 22X 323,000 317,000 6,000
ORI ME0ISXMH 29 X 323,000
[ 64,600




2A:

X XH -
o=

200! 0t
NPT

Selr ARISXAE2S X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

| Al 258,400

ZULIEDIESAIE 23 502,415 487,765 14,650
== 100,483
Al 401,932

307 212+01& 502,415 487,765 14,650
< 100,483
Al 401,932

10 Al SXAEEHE2EHI2x 502,415 487,765 14,650
OZOHAEINESAIE 28] XA (1H2) 502,415
= 100,483
Al 401,932

el St=+=0SHHH 28 285,000 276,000 9,000
=S 57,000
Al 228,000

307 21201 & 285,000 276,000 9,000
< 57,000
Al 228,000

10 AlRIS XA EEE 22X 285,000 276,000 9,000
Ol st=+01SHHH 29 285,000
= 57,000
Al 228,000

el SSdEIHE =29 179,970 174,220 5,750
= 17,997
Al 161,973

307 @120l & 179,970 174,220 5,750
s 17,997
Al 161,973

10 Al2ISTIAIEEE2HIEX 179,970 174,220 5,750
OFQ SSHEIHE 23 (D) 179,970
< 17,997
Al 161,973

e nsX2 81,600 79,900 1,700
= 57,120
[ 9,792
Al 14,688

307 glztol & 81,600 79,900 1,700
= 57,120
s 9,792
Al 14,688

1 AR SXAIEE X 81,600 79,900 1,700
OWAEZ0HR NEXE 2S(1HA) 81,600
= 57,120
= 9,792




FA BZHO0HRI L
M ALBI=XSX
CHRlr ARRISXAIE2S XA (SH9 H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2
| Al 14,688
o IEXJHE 2EXE 182,111 177,779 4,332
== 54,633
Al 127,478
307 212+01& 182,111 177,779 4,332
< 54,633
Al 127,478
11 Al SXIAIEE 182,111 177,779 4,332
Ol JIEX2MH 28 182,111
= 54,633
Al 127,478
A EH WSAAME 28 N2 206,604 202,500 4,104
=S 61,981
Al 144,623
307 21201 & 206,604 202,500 4,104
< 61,981
Al 144,623
11 AMEISXAEEES 206,604 202,500 4,104
O SdusHy 29 206,604
== 61,981
Al 144,623
ZOHRIASFAIE ZBIIED| dE X 4,687 9,528 N4,841
= 2,812
& 562
Al 1,313
307 elztol & 4,687 9,528 4,841
= 2,812
< 562
Al 1,313
11 AMEISXAEEES 4,687 9,528 A4,841
OZOAANFAIE SO1EE)| dE K& 4,687
= 2,812
s 562
Al 1,313
JOHSEROPHFAIE 2tEH| X ALY 18,000 23,000 25,000
307 glztol & 18,000 23,000 25,000
11 AMEISXAEEES 18,000 23,000 /5,000
OHMHE R0 HFAIE 2HEH| NIJ At 18,000
AR SXIAIE S ALK 500 500 0
201 er2 3| 500 500
01 AFR2t2ltl 500 500
OMBISEXAISBAXNL L LE STt
CIAUNF(BAEE) 500




D B2

NEENESS
ARISXAE2E XS (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
CIXE SSAY 23| 3,320 3,59 AN275
= 2,324
T 398
Al 598
307 QIZ2t01 A 3,320 3,59 N2T75
= 2,324
T 398
Al 598
11 Al =XAISE 3,320 3,59 VAVALS)
OUX g =AM 29| 3,320
= 2,324
& 398
Al 598
M= XA E S ALK& 984,300 788,540 195,760
T 280,500
Al 703,800
AMNSISXAESAA HSLHE L A RS 44,500 44,500
202 (44| 42,000 42,000
01 =WOdbI 42,000 42,000
OAgl=X2eE HRFE ol
140,000 25+ 12& 42,000
203 YR F=&IH| 2,500 2,500
03 A FAIHRFAIH| 2,500 2,500
OZZ2X0{eI It AIZEFA 1,000
OsXAld & il 22ERFE 1,500
T=UHSYAL HMS KA 4,800 4,800
301 LetEHZ 4,800 4,800
14 J|Et2 43 4,800 4,800
O+UESA AT X
100,000& x4 H x 122 4,800
ZOHQISXIAESAA S 935,000 739,240 195,760
& 280,500
Al 654,500
301 LPENF 935,000 0 935,000
T 280,500
Al 654,500
14 J|EtE &2 935,000 0 935,000
OFOCI=2XIAE SALKF SE4=SH(26004) 935,000
= 280,500
Al 654,500
ASISXAIE JIsE2ZA 950,392 752,134 198,258
= 277,173
= 244,021




SA: AREONID
HH: AB= XS
Ol AIBIZXIAIE JIS22AA (o) &)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

Al 429,198

O HF=AIE JIsSES 176,552 0 176,552
88,276
61,793
26,483

hoH

=
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N
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402 I+t
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ol 176,552 0 176,552
88,276
61,793
26,483

hoH

=

SE(OIXMTHE) 176,552 0 176,552
OTOIAHFAIE JIsEL (ML) 176,552
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61,793
26,483

SR

=

ZONQUEATHEAIL JISEZALY 377,794 30,758 347,036
188,897
132,228
56,669

Mo

=

402 SI2EXH=2 01 S 377,79 30,758 347,036
188,897
132,228
56,669

Mo

=

02 QI R2AIS 2R (0IETHE) 377, 7% 30,758 347,036

OHOUIAATHEAIL JIsELAMS 377,794
188,897
132,228
Al 56,669

Mho

=

JIsELAMH 346,046 701,376 A3955,330

|

5
o
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2
e
e |4
s
H

346,046 701,376 355,330

r
T

MH| i | fob
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S
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346,046

O
n
i
ry
olr | o
ol
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I
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o
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e
o
N
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0
>
184
H
Ho
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50,000 0 50,000
50,000

in

402 SI2ERHE01 M 50,000 0 50,000
50,000

in

02 QI 2 AL EZ(0IETHR) 50,000 0 50,000
OFHRIEtH JIsE2MA(EEX) 50,000

50,000

H

ZOHOl AEOLH 52,291,052 41,998,218 10,292,834
33,112,482

257,583
5,268,575
11,802,412
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2A:
X XH -
o e

=aak

220l
INEIENESS!
EHOHOI AEFOLE

= o

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

H 1,850,000

goieli=s Ka 12,106,923 12,418,512 A311,589
= 8,474,846
= 1,089,623
Al 2,542,454

301 EtE N = 12,106,923 12,418,512 A311,589
= 8,474,846
< 1,089,623
Al 2,542,454

01 AR 2EHSFS(RNEERTHE) 12,106,923 12,418,512 A311,589
OZ 0N AS(3,3859) 12,106,923
= 8,474,846
< 1,089,623
Al 2,542,4%4

S = {GIES = 2,097,633 2,059,890 37,743
= 1,468,343
== 251,716
Al 377,574

301 22N = 2,097,633 2,059,890 37,743
= 1,468,343
=S 251,716
Al 377,574

01 Al E2E A S(FREXM) 2,097,633 2,059,890 37,743
OFOMH=+=Z(I1=)(2,979E) 2,097,633
= 1,468,343
= 251,716
Al 377,574

ZU=E(XARE) K= 1,030,565 1,094,310 N\63,745
= 721,3%
= 123,668
Al 185,502

301 EtE NS 1,030,565 1,004,310 A\B3,745
= 721,3%
= 123,668
Al 185,502

01 Al EEABZ2(2REER) 1,030,565 1,094,310 N63,745
OZM=E (a2 S)(1,2408) 1,030,565
= 721,3%
< 123,668
Al 185,502

oflEsiE=0 X 21,541,012 16,232,767 5,308,245
= 15,078,708
< 1,938,691




2A:
X XH -
o e

=aak

=Rl
NEEWES
Hojol MEOLH

=

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 4,523,613

307 gl2tol & 21,541,012 16,232,767 5,308,245
= 16,078,708
= 1,938,691
Al 4,523,613

05 212t =S 21,541,012 16,232,767 5,308,245
OF0HQ! SSXIR A (808Y) 21,541,012
= 15,078,708
& 1,938,691
Al 4,523,613

JoHUESKESH =FIHAE 708,426 450,000 258,426
= 212,528
Al 495,898

307 gl2tol & 708,426 450,000 258,426
=S 212,528
Al 495,898

05 git?(& = 708,426 450,000 258,426
O SSXIZAY EFIHXIA(128%) 708,426
& 212,528
Al 495,898

ZUEsEx JREH 315,057 171,078 143,979
= 220,540
< 28,355
Al 66,162

307 212+01& 315,057 171,078 143,979
= 220,540
=S 28,355
Al 66,162

05 git?(& = 315,057 171,078 143,979
OIS EE Iz 04 (449) 315,057
= 220,540
= 28,355
Al 66,162

oL X2 X2 (L Lxtel) 1,656,140 1,585,886 70,254
= 828,110
= 331,210
Al 496,820

101 @1A4H| 1,656,140 1,585,886 70,254
= 828,110
= 331,210
Al 496,820

MU IIRIMZZENSES 1,656,140 1,585,886 70,254
OOl et ARl X2 (569) 1,656,140




2A:
X XH -
o e

=aak

=Rl
NEEWES
Hojol MEOLH

=

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 828,110
=S 331,210
Al 496,820

ZOHQI L Rt  XI& (AR Xt2]) 310,500 288,412 22,088
= 185,250
S 62,100
Al 93,150

101 21AH| 310,500 288,412 22,088
= 185,250
= 62,100
Al 93,180

04 JIZtNZ2 2N S+ 310,500 288,412 22,088
OFOHQ! AIREHI LRt XIJ(21F) 310,500
= 185,250
= 62,100
Al 93,150

o LR e X (SXLRel) 1,608,360 809,870 848,490
= 829,200
= 331,630
Al 497,530

307 elztol & 1,658,360 809,870 848,490
= 829,200
[ 331,630
Al 497,530

11 AMEISXAEEES 1,658,360 809,870 848,490
OZ 0Kl SXILXtel XA (240H) 1,658,360
= 829,200
== 331,630
Al 497,530

AIZFEOHQIQHOMAL IHA ALY 372,700 255,120 117,580
= 298,100
== 29,850
Al 44,750

307 212+01& 372,700 255,120 117,580
= 298,100
= 29,850
Al 44,750

1 AMISXAIEEX 372,700 255,120 117,580
OAIZIZ 0Nl HOrAF IFAAL (209) 372,700
= 298,100
= 29,850
Al 44,750

LETHALALZS AL BXRAS 559,800 401,516 158,284




2A:

X XH -
o=

200! 0t
NPT

e SV Relps 2 ol o (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 279,900
=S 111,960
Al 167,940

307 @I2to| & 559,800 401,516 158,284
= 279,900
= 111,960
Al 167,940

1 AMISXAIEEXS 559,800 401,516 158,284
LI LAESAF 2 LXt2l(30Y) 559,800
= 279,900
= 111,960
Al 167,940

NASEOHQ! &EH| A X2 15,162 15,580 N418
= 7,581
= 3,032
Al 4,549

301 EtE N = 15,162 15,580 A418
= 7,581
< 3,032
Al 4,549

01 Al EEATZ(2REZME) 16,162 15,580 N418
OFHe!l SSEISH X2 (330) 16,162
= 7,581
== 3,032
Al 4,549

ZoHelo=Hl K& 361,819 342,356 9,463
= 281,455
== 49,255
Al 21,109
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